CONTROLLED

RHINO-RACK

Batwing Fit Kit for Square and Round Crossbars (31105)

Item Component Name Qty | Part No. Fitment setup for:
1 M6 U-bolt 2 C064 1 - Yakama Roundbar.
2 European Adapter Block 2 MO083
3 M6 x 16mm Flat S/S Washer 4 Wo031 1
4 M6 Spring S/S Washer 4 Wo004
5 M6 Stainless Steel Nut 4 N056
6 Yakima Adapter Block 2 M082
7 Fitting Instructions 1 RR222

Kit to be used in conjunction with the brackets found in your
Rhino-Rack Batwing.

Tools Required: 1 - Rubber mallet. 2 - 10mm (3/8”) socket
wrench.

Fitment setup for:

1 - Rhino-Rack Steel Euro/ Euro Crossbars.
2 - Thule SquareBar.

3 - Inno Square Crossbar.

1 6
Drill out holes in 3
bracket to 8.5mm
4 &
@
&5
\‘1 )
5 e
\—

It may be

necessary to care-
fully tap the U-bolt in
place if it is a tight fit

in the bracket. Use a
rubber mallet in this
event. ’ ¥\

Note for Dealers and Fitters:
It is your responsibility to ensure these fitting instructions are given to the end user or client

Rhino-Rack, 22 Hanson PI, Eastern Creek

NSW 2766, Australia Document No: RR-222
(02) 8846 1900 Prepared By: K.Everett Issue No: 04
rhinorack.com.au Authorised By: N.Clarke Issue Date: 19/12/2018

These instructions remain the property of Rhino-Rack Australia Pty. Ltd. and may not be used or changed for any other purpose than intended.



rodr
Small Controlled


